LEE SHEE/ 5

|
|
|

o ,_x’J
: BRI et 2 s
3 0 : % .
// 7 : : - %;15
43.56 46.20° : Y Dl = CPW Q R —Q .:Jw.?f'
/042‘ ‘ /ﬂL/{ (o} Ha.17 2707 50-:15 49.50 ' Hq.50° 50.!‘:,'};.‘ 49.[7" E{i—%-
KaanJ j0d0 | 1039 1038037 1036|1035 03 0% YROB2 -k [0 3] ¥ 29 | 1028 || rez7 W
| 0 o N 'f;FchmbL N g (5H-41% Clarence #| Lawrence | 704 s Njf | AW
(/) o~ N st Lo, < +5a//7 ik ‘ ? Bevlah + Waveline /ﬂawehdad gl 1 _ilf ,,ngw‘gﬁ'h\
3 192-805 | weqhorst v /1 , g5 5 | -
Al 151-727 (}%N L e Y46 § 166~ gdan? Ellinger |126-55) 184- 3\, Jo2=/6Y f < N
0D 3 - i Iy e H 8 | + ) ) |106=220 | 158 | . AL
s = ~9 LO LO) L0 T L R s T ‘——- LO) LO LOY LO) o 1O 2 03: | O 8l N
2 Sty i sk T b quiafz g = 5 e ® e g 2 3y |0S
Y W {L oL ; -~ ™ (‘::'1
%/01‘/'/32_/ Br A » Purreit Q James | o111 | 87-5¢1 | i53-452 573';.‘: | Zd"f* 3 i
Taaigee By Sy §pivison : G043 T 3 Asichrer 3 plosser | | e |8
> N N \\; i\ Ne N Yo Lut e N N e fal ‘ C,rmz f }: lH 4491‘ ‘}i Z_ é//l/é_s
? Coes 1eR2 t‘?f . w3 Sl ':\5, O 7*1,%1;7./?6 SR . AR 5';‘,/\.“%‘3 33.54 H4. 50 & i n.28)° | /VO)Z{—- FOR C/f/'//g
| /&;::‘S .’;2 O M/LLEK : @i“" 3.; r\z‘f’ u‘“ﬁ'\\t‘pﬁ‘\ PL 456_ ; Mr" O‘\ ? . | /ﬁﬂz ﬂé/A/ép;
i b i - [ 4 I BT TS g ; e ot = e
ang 125 ( | w54 ¢l056 7.50\’ 30 R WA | 1059 38R gl 5id 140.25° 165 RO.E8 . N‘f@\
I 164=-7¢] c_uba A I Kl A A Q % ETLESY ) 1067 2 oG John v sy
s ‘ Srsz—veo” LA [F S Rk | I= e s L S e i 681 rha'"” st T R
S g e S Yo g T Ao Mz " Segel s / '
Aebr, 1R LT i e SO R I ¥ | } gorde (/4 5»’47 ey |
4R B Caloint | Ko Smom g~ ",3“’ IR L R “/060 S i o f & . FA0H B ' /
2N karer Je 50 IRt & & Sl | fie Ronaldt b e
y  chadim G\U\? TREsA 1%y ez bl 28 679 re-27¢ 6B Al S 6%,
o ' T e e A 1 ; - s L e |
4“’6’.64441 3 . P - % AR VT AR “h'i‘:\%;' T:'? Roke/#h Ent, Ine /ﬂB"sﬁyi‘ b Fale : | ﬂ;jﬁ"ﬁ
; S e i | N B gt e
o oo ae T e '
M o palerloreta ([0 /03577
| B 7
oy R
g e
— 6l 1
:g’jﬂf;’m C 1064
j05=201% /12 *4'/65'
S . ,J«'\ \
A, 7 ) o

*Z,_ SELTION LINE-
| G
; NS N 2 5awﬂ/£5
| MAA L e gk o g
\.nk ™ gé\ Haye Been éﬁff’fd&mp//
T
R SEE e $HEE
N\Ji§5§§ = g:g - f;/{/é' EET
QB JLA
&?4} bs %\;’2: Vg q\\“; Cdfé/f L2 7 = A #E
*L“ﬁ‘*-\lf N [ &5 [~/012.
sEsnsNy 3 | o 02408
QQHETQN e \\, N ‘ | ‘ 10 6 2-12.12
T 3”?‘&;'?1 W\ NN \ | 2./ 4 - 1277
\T\?\T\;Q\b\ \ h\iQ \ _ [2 720 - 1272 \/
| B R 11,7024 43 8 |

I [hlre & /-85



